’1'|» ”

N
fegiel Bl A —

-

—_—
TIiTiH&

Hiec—g ol %ﬁg}-‘l TUTE SANE, <94 ggailg 99 H

1. ERITET A BT el el — 8.800 THHI0 (4.435 0)

ﬁﬁﬁﬁﬁnﬁmﬁﬁﬁﬁﬁﬁ%mﬁooﬁﬂ/uﬁfﬁm 100x8.

W@WWWW—W

800= 880 HIE

=0| Hd BT A e ol l =T \
<0
1 i 2 4 l 5 \
1) | HerH TROT
1] ¥d U dMieT 4.435 20 71.000 \ 314.88 4\
2 55 o TR P (e el ) 4435 20 2315.000 10267.02
3 |E1 TS BT 880 qiey 1350.000 1188000.00
2 |reer gad ol (0.30x0.30x0.45) 830 TS 4,930 4338.40
= [T atean a (sier 20 100 3090 @H T g 0.60 HI0 |144.00 Eaikin) 11.000 1584.00
EIS)
5 [OT @ A (UE d9) 880 g 4.000 3520.00
7 |ora = S 5, a0, SR Aot T, T e 4.435 20 500.000 2217.50
RO &g ARGl FTAR TS Wil
QT— A A 1210241.80
2 fediter =T N
T [T e @ (0.30%0.30%0.45) (wfr 100) 880 i 88.00 77440.00J
> [ore] @ e feard 9% 880 drer 1.00 880.00
3 |21 TS Ged PRl 880 qrer 45.00 39600.00
2 |21 e e ud e @R 830 drer 40.00 35200.00
= 50 971 o1 &l ga arel W 25 fbH0 880 ureg 6.00 5280.00
5 [GrEmiaeT @ ATl 880 e .72 1513.60
7 PR et d wreaT (& AR) 880 ey 2.19 1927.20
8 |@mE 9 gar W &Y 4435 20 850.00 3769.75
5 |oom a¥ & e|—E d vERdd W A (@A | o9 9 4435 20 1278 11502.00
78) ' BIRLIEVACRELE
il i
5 (o o e S, U ga 8g abd , et T 4.435 20 LS 2000.00
aﬁﬂqmwﬁmaﬁﬁﬁﬁ%gm%@t
o ¥ § & A IR |
Fr— fgehia =Ren 179142.55 |
TAT— T TN + fad =R 1389354.35




.......

2 |21 TERTT &7 © IEG 9= OiE, 5y §9 Sgadia | 4435 20 600.00 2661.00
3 |a Bl 4435 20 500.00 2217.50
YT e AR 20214.50
= Tged =R I
1 [R1901 a¥ @ SURIT UUM qY YW g SRETV D 12 | 4435 20 1278 15336.00 |
aE qieHE / <gAa4 :
2 |em1 TR 4.435 20 500.00 2217.50
" AT age TR 17553.50
5) UgH =X
1 [Roor 9¥ @ SORINT YoM Y TEREd 9 SgEYT B 12 | 4435 20 1278 15336.00
a7 wicraTE / ~gAcH
IIRT g9 BT 15336.00
; 6) wadi g7
| 1 K191 99 o 91g garg o9y BT IEREE 9 JRETT I 12 | 4.435 20 1278 15336.00
A8 gfcrTE / =g
2 |ora B (@it avaE] gReT Bre) 4435 20 500.00 2217.50
IRT Bodl a0 17553.50
@) RINCIRCRL]
7[R9 9% @ a1g gotg I BT Y@@ g AREIV DR 12 | 4435 20 1278 15336.00
il AR/~
! 2 [ora ol (f |l gRen @) 4435 20 500.00 2217.50
i IRT Araar @)l 17553.50
| (8) SICEINCEL| %
1 e 98 @ 91 qaTd O @l RENEld d SREv] B 12 | 4435 20 1278 15336.00
b = TS /S
2 |om BRI (@ R R @) 4.435 20 500.00 2217.50
j N7 TSl AR 17553.50




28¢> ]

@] . 4T TR
"[Rrgor 9§ @ a1e qarg Y ol @R T SRl B 12 | 4435 80 1278 W 15336.00
H8 qHIE /<G
I B (@ wEl RE B 4.435 20 500.00 1774.00
JRT @l TxoT 17110.00
(10) EGEIRCAY : |
90T a¥ @ 915 g 9y bl YERETT g IR0 DI 12 | 4435 B0 1278 15336.00
T irTE / ~gE
: EEAl

AT BRI (@11 <] YReT P 4435 20 500.00 1774.00
T Ed TRl 17110.00

B AR T AT 1210247.80

k g == 179112.55

T =R 20214.50
aggf TROT 17553.50

TH TR 15336.00

TH T 17553.50

T TRl ' 17553.50
AT TRl 17553.50

O T 17110.00
=9 =Rl 17110.00

ot AT 1529338.85

AT @ oI} g %/ 200000.00 %0/ fHio 8.800 foro 1760000.00




